

## A WEIGHTED MULTIPLIER THEOREM FOR THE MODIFIED HANKEL TRANSFORM

By

RAFAŁ KAPELKO

(Received November 26, 2004; Revised July 5, 2005)

**Abstract.** We prove a weighted version of Hörmander multiplier theorem for the modified Hankel transform. To do this, we connect Riesz function technique with weighted estimates associated with such a transform.

### 1. Introduction

The purpose of this paper is to derive a weighted version of Hörmander multiplier theorem for the modified Hankel transform, which extends earlier results in the subject [4], [5], [7]. In more details, the main result of [5] says that a bounded function on  $R_+$  satisfying a Hörmander type condition for  $\lambda$  the least even integer  $> \alpha + 1$  is a multiplier for the modified Hankel transform on every  $L^p(R_+, x^{2\alpha+1})$ ,  $1 < p < \infty$ ,  $\alpha > -\frac{1}{2}$ . Then the result of [5] was improved by author in [7] allowing  $\lambda$  be fractional  $> \alpha + 1$ . It is an usual practice to extend Hörmander multiplier theorem into weighted spaces by introducing the additional weight  $x^a$ . The paper concludes that a similar condition ( $\lambda$  is fractional  $> \alpha + 1$ ) allows to get multiplier on every  $L^p(R_+, x^a x^{2\alpha+1})$ , for  $1 < p < \infty$ ,  $\alpha > -\frac{1}{2}$  and  $a > 0$  [Theorem 1].

Let  $C_c^\infty(0, \infty)$  be the space of compactly supported  $C^\infty$  functions on  $(0, \infty)$ . For a suitable function  $f$  on  $(0, \infty)$  (for example for  $f \in C_c^\infty(0, \infty)$ ) the modified Hankel transform, of order  $\alpha$ , of  $f$  is defined by the formula

$$H_\alpha f(y) = \int_0^\infty \frac{J_\alpha(xy)}{(xy)^\alpha} f(x) x^{2\alpha+1} dx,$$

where  $J_\alpha$  is the Bessel function of the first kind (of order  $\alpha$ ). Note that the inversion theorem holds

$$H_\alpha(H_\alpha f)(x) = f(x), \quad x > 0,$$

see [5, p. 656].

---

2000 Mathematics Subject Classification: 42B15, 42C99

Key words and phrases: modified Hankel transform, weighted multiplier, Hardy inequality

For  $\alpha > -\frac{1}{2}$ ,  $a \in \mathbb{R}$ , and  $1 < p < \infty$ , let  $L_{\alpha}^{p,a}$  denote the set of measurable functions  $f$  on  $(0, \infty)$  for which  $\int_0^{\infty} |f(x)|^p x^a x^{2\alpha+1} dx < \infty$ . Endowed with the norm

$$\|f\|_{L_{\alpha}^{p,a}} := \left( \int_0^{\infty} |f(x)|^p x^a x^{2\alpha+1} dx \right)^{1/p} < \infty$$

$L_{\alpha}^{p,a}$  is a Banach space.

A bounded, measurable function  $m$  on  $(0, \infty)$  is said to be a multiplier on  $L_{\alpha}^{p,a}$ , for  $H_{\alpha}$ , if the inequality

$$\|H_{\alpha}(m \cdot H_{\alpha}f)\|_{L_{\alpha}^{p,a}} \leq C \|f\|_{L_{\alpha}^{p,a}}$$

holds for all  $f \in C_c^{\infty}(0, \infty)$ , where  $C$  is a constant independent of  $f$ .

For suitable functions  $f$  and  $g$  on  $(0, \infty)$ , let  $f * g$  denote the (generalized) convolution of  $f$  and  $g$  defined as

$$f * g(x) = \int_0^{\infty} f(y) T^y g(x) y^{2\alpha+1} dy,$$

where  $T^y$  is the generalized translation operator given by

$$T^y g(x) = \frac{\Gamma(\alpha + 1)}{\sqrt{\pi} \Gamma(\alpha + \frac{1}{2})} \int_0^{\pi} g((x, y)_{\theta}) \sin^{2\alpha}(\theta) d\theta,$$

with  $(x, y)_{\theta} = (x^2 + y^2 - 2xy \cos \theta)^{\frac{1}{2}}$ , if  $x, y > 0$ . Note that

$$H_{\alpha}(f * g) = H_{\alpha}(f) \cdot H_{\alpha}(g), \quad f, g \in L_{\alpha}^{1,0},$$

see [6].

In this paper, we make use of the following properties of  $T^y$ :

$$(1) \quad \int_0^{\infty} T^y f(x) g(x) x^{2\alpha+1} dx = \int_0^{\infty} f(x) T^y g(x) x^{2\alpha+1} dx, \quad y > 0,$$

$$(2) \quad |T^y f(x)|^p \leq T^y(|f|^p)(x), \quad (1 \leq p < \infty).$$

If  $f = 0$  on the interval  $(|x - y|, x + y)$  then

$$(3) \quad T^y f(x) = 0,$$

see [5], [10].

Let  $\lambda > 0$  and let  $WBV_{2,\lambda}$  denote the set of bounded, continuous functions  $m$  on  $(0, \infty)$  such that

$$\|m\|_{2,\lambda} := \|m\|_{\infty} + \sup_{j \in \mathbb{Z}} \left( \int_{2^{j-1}}^{2^j} |x^{\lambda} m^{(\lambda)}(x)|^2 \frac{dx}{x} \right)^{1/2},$$

where  $m^{(\lambda)}$  is the fractional derivative of order  $\lambda$ , in the sense given in [3]. Then the expression  $\|m\|_{2,\lambda}$  defines a norm on  $WBV_{2,\lambda}$ , for which  $WBV_{2,\lambda}$  becomes a Banach space. As usual we decompose the function  $m$  from  $WBV_{2,\lambda}$  into small dyadic pieces by using a fixed bump function. Let  $\Psi$  be a  $C^\infty$  function on  $(0, \infty)$  with support in  $(1/2, 2)$  such that  $\sum_{j=-\infty}^\infty \Psi(2^{-j}x) = 1$ , and set  $m_j(x) = m(x)\Psi(2^{-j}x)$ . The following characterization of  $m$  in  $WBV_{2,\lambda}$  will be needed through the paper. If  $\lambda \geq \frac{1}{2}$  and  $\Psi_{1/t}(x) = \Psi(x/t)$  then

$$(4) \quad \sup_{t>0} (t)^{\lambda-1/2} \left( \int_{-\infty}^\infty |(\Psi_{1/t}m)^{(\lambda)}(x)|^2 dx \right)^{1/2} \leq C \|m\|_{2,\lambda},$$

where  $C$  is a suitable positive constant independent of  $m$  and  $\Psi_{1/t}$  [1, Theorem 2]. Substitution  $t = 2^j$  in (4) leads to

$$(5) \quad \left( \int_0^{2^{j+1}} |m_j^{(\lambda)}(x)|^2 dx \right)^{\frac{1}{2}} \leq C(2^j)^{\frac{1}{2}-\lambda} \|m\|_{2,\lambda},$$

where  $C$  does not depend on  $j$ . Moreover, for the function  $m_j$  with compact support in  $(2^{j-1}, 2^{j+1})$  we have  $\text{supp } m_j^{(\lambda)} \subset (0, 2^{j+1})$  and we can write the reproducing formula

$$(6) \quad m_j(x) = \frac{1}{\Gamma(\lambda)} \int_0^{2^{j+1}} m_j^{(\lambda)}(u)(u-x)_+^{\lambda-1} du$$

[3, Section 3].

Throughout this paper  $C$ , with or without subscription, will represent a positive constant which is not necessarily the same in each occurrence.

## 2. The main result

**THEOREM 1.** *Let  $\alpha > -\frac{1}{2}$ ,  $1 < p < \infty$ ,  $(p-2)(\alpha+1) < a < (\alpha+1) \min\{p, 2p-2\}$ . Assume that  $m$  belongs to  $WBV_{2,\lambda}$  for some  $\lambda > \alpha+1$ . Then  $m$  is a multiplier on  $L_\alpha^{p,a}$ , for  $H_\alpha$ .*

Let  $j \in Z$ . Define new family of functions:  $h(x) = m(x^2)$ ,  $h_j(x) = m_j(x^2)$ .

**LEMMA 2.** *Let  $m \in WBV_{2,\lambda}$  for some  $\lambda > \alpha+1$ . Then, for all  $1 < p < 2$ ,*

$$(7) \quad \sum_{j=-N}^N \left( \int_r^{2r} |H_\alpha h_j(y)|^p y^{2\alpha+1} dy \right)^{1/p} \leq C \|m\|_{2,\lambda} r^{(2\alpha+2)((1/p)-1)},$$

with  $C$  independent of  $r > 0$  and  $N = 1, 2, \dots$ .

*Proof.* As in [7] we use the fact that the modified Hankel transform of the function

$$R(x) = (u - x^2)_+^{\lambda-1}, \quad \lambda > 0$$

has the simple form

$$(8) \quad H_\alpha R(y) = C_{\alpha,\lambda} \left( \frac{\sqrt{u}}{y} \right)^{\alpha+\lambda} J_{\alpha+\lambda}(\sqrt{uy}).$$

[9, §4 Theorem 4.15].

Substitution  $x := x^2$  in (6) and using (8) lead to

$$(9) \quad H_\alpha h_j(y) = C \int_0^{2^{j+1}} m_j^{(\lambda)}(u) \left( \frac{\sqrt{u}}{y} \right)^{\alpha+\lambda} J_{\alpha+\lambda}(\sqrt{uy}) du.$$

Write  $\lambda$  in the form  $\lambda = \alpha + 1 + \varepsilon$ . According to [3, Theorem 4b] we may assume that  $0 < \varepsilon < 1$ . In order to prove (7) it is sufficient to obtain two inequalities:

$$(10) \quad \int_r^{2r} |H_\alpha h_j(y)|^p y^{2\alpha+1} dy \leq C \|m\|_{2,\lambda}^p (r\sqrt{2^j})^{-\varepsilon p} r^{(2\alpha+2)(1-p)},$$

which will work for  $\sqrt{2^j}r \geq 1$ ;

$$(11) \quad \int_r^{2r} |H_\alpha h_j(y)|^p y^{2\alpha+1} dy \leq C \|m\|_\infty^p (r\sqrt{2^j})^{(2\alpha+2)p} r^{(2\alpha+2)(1-p)},$$

which will be enough whenever  $\sqrt{2^j}r < 1$ .

To prove (10) observe that

$$H_\alpha h_j(y) = H_{2\alpha+1+\varepsilon} g_j(y),$$

where

$$g_j(y) = C m_j^{(\lambda)}(y^2) \chi_{[0, \sqrt{2^{j+1}}]}(y).$$

Now Hölder's inequality, the Plancherel formula [5, p. 656] applied to  $g_j$  and (5) give

$$\begin{aligned} & \int_r^{2r} |H_\alpha h_j(y)|^p y^{2\alpha+1} dy \\ & \leq C r^{-\varepsilon p} r^{(2\alpha+2)(1-p)} \left( \int_r^{2r} |H_\alpha h_j(y)|^2 (y^{2\alpha+1+\frac{1}{2}+\varepsilon})^2 dy \right)^{\frac{p}{2}} \\ & \leq C r^{-\varepsilon p} r^{(2\alpha+2)(1-p)} \left( \int_0^{2^{j+1}} |m_j^{(\lambda)}(x)|^2 x^{2\alpha+1+\varepsilon} dx \right)^{\frac{p}{2}} \\ & \leq C \|m\|_{2,\lambda}^p (r\sqrt{2^j})^{-\varepsilon p} r^{(2\alpha+2)(1-p)}. \end{aligned}$$

To prove (11) we use asymptotic properties of Bessel functions:  $J_\alpha(x) = O(x^\alpha)$ ,  $x \rightarrow 0^+$ ,  $J_\alpha(x) = O(x^{-1/2})$ ,  $x \rightarrow \infty$ . First we get

$$|H_\alpha h_j(y)| \leq \|m\|_\infty \int_0^{\sqrt{2^{j+1}}} \frac{|J_\alpha(xy)|}{(xy)^\alpha} x^{2\alpha+1} dx \leq C \|m\|_\infty (\sqrt{2^j})^{2\alpha+2}$$

and therefore

$$\int_r^{2r} |H_\alpha h_j(y)|^p y^{2\alpha+1} dy \leq C \|m\|_\infty^p (r\sqrt{2^j})^{(2\alpha+2)p} r^{(2\alpha+2)(1-p)}.$$

This completes the proof of (10) and consequently the proof of the lemma.  $\square$

**LEMMA 3.** Let  $Tf(y) = \int_0^\infty K(y, z)f(z)z^{2\alpha+1}dz$ , where  $K$  is a bounded, measurable function on  $R_+^2$  and  $f \in C_c^\infty(0, \infty)$ . Assume that the operator  $T$  satisfies the inequality

$$(12) \quad \|Tf\|_{L_\alpha^{p,0}} \leq A \|f\|_{L_\alpha^{p,0}},$$

with  $A$  independent of  $f$ . Then  $\|Tf\|_{L_\alpha^{p,a}}^p$  is bounded by the sum of

$$(13) \quad C \int_0^\infty \left( \int_{z < \frac{r}{4}} \left[ \int_{r/2}^{2r} |K(y, z)|^p y^{2\alpha+1} dy \right]^{\frac{1}{p}} |f(z)| z^{2\alpha+1} dz \right)^p r^{a-1} dr,$$

$$(14) \quad CA \|f\|_{L_\alpha^{p,a}}^p,$$

$$(15) \quad C \int_0^\infty \left( \int_{z > 4r} \left[ \int_{r/2}^{2r} |K(y, z)|^p y^{2\alpha+1} dy \right]^{\frac{1}{p}} |f(z)| z^{2\alpha+1} dz \right)^p r^{a-1} dr,$$

where  $C$  is a constant depending only on  $a$  and  $p$ .

*Proof.* We closely follow the original proof of [8, Lemma 4.3]. Firstly, observe that

$$\|Tf\|_{L_\alpha^{p,a}}^p = \sum_{n=-\infty}^\infty \int_{2^n}^{2^{n+1}} \left| \int_0^\infty K(y, z)f(z)z^{2\alpha+1} dz \right|^p y^a y^{2\alpha+1} dy.$$

Fix  $n$  and write  $f(z) = \sum_{j=1}^3 f_j(z)$ , where  $f_j \in C_c^\infty(0, \infty)$ ,  $|f_j(z)| \leq |f(z)|$  for  $1 \leq j \leq 3$ ;  $f_1(z) = 0$  for  $z > 2^{n-2}$ ,  $f_2(z) = 0$  for  $z < 2^{n-3}$  and  $z > 2^{n+4}$ ,  $f_3(z) = 0$  for  $z < 2^{n+3}$ . Then  $\|Tf\|_{L_\alpha^{p,a}}^p$  is bounded by  $3^p$  times the sum of

$$(16) \quad \sum_{n=-\infty}^\infty \int_{2^n}^{2^{n+1}} \left| \int_0^\infty K(y, z)f_j(z)z^{2\alpha+1} dz \right|^p y^a y^{2\alpha+1} dy$$

for  $1 \leq j \leq 3$ .

To estimate (16) with  $j = 1$ , use Minkowski's integral inequality to get the bound

$$\sum_{n=-\infty}^{\infty} \left( \int_0^{2^{n-2}} \left[ \int_{2^n}^{2^{n+1}} |K(y, z) f_1(z)|^p y^\alpha y^{2\alpha+1} dy \right]^{1/p} z^{2\alpha+1} dz \right)^p.$$

This is bounded by  $(\log 2)^{-1}$  times the sum of

$$\sum_{n=-\infty}^{\infty} \int_{2^n}^{2^{n+1}} \left( \int_{z < r/4} \left[ \int_{r/2}^{2r} |K(y, z) f_1(z)|^p y^\alpha y^{2\alpha+1} dy \right]^{1/p} z^{2\alpha+1} dz \right)^p \frac{dr}{r},$$

which is bounded by (13).

For (16) with  $j = 2$  we have the bound

$$\sum_{n=-\infty}^{\infty} C 2^{na} \int_{2^n}^{2^{n+1}} \left| \int_{2^{n-3}}^{2^{n+4}} K(y, z) f_2(z) z^{2\alpha+1} dz \right|^p y^{2\alpha+1} dy.$$

By (12) this is bounded by

$$\sum_{n=-\infty}^{\infty} C 2^{na} A \int_{2^{n-3}}^{2^{n+4}} |f_2(z)|^p z^{2\alpha+1} dz,$$

whence we obtain (14).

Finally, (15) can be obtained from (16) using, for  $j = 3$ , an argument similar to the argument considered for  $j = 1$ .  $\square$

**LEMMA 4.** *Let  $m \in WBV_{2,\lambda}$  for some  $\lambda > \alpha + 1$ . Then for  $1 < p < 2$ ,  $(p - 2)(\alpha + 1) < a < (p - 1)(2\alpha + 2)$  and  $f \in C_c^\infty(0, \infty)$ ,*

$$\left\| \sum_{j=-N}^N (H_\alpha h_j) * f \right\|_{L_\alpha^{p,a}} \leq C \|m\|_{2,\lambda} \|f\|_{L_\alpha^{p,a}},$$

with  $C$  independent of  $f$  and  $N = 1, 2, \dots$

*Proof.* To prove this we will apply Lemma 3 with  $K(y, z) = \sum_{j=-N}^N T^z (H_\alpha h_j)(y)$ . Note that if  $(Tf)(y) := \int_0^\infty K(y, z) f(z) z^{2\alpha+1} dz$ ,  $y > 0$ , then  $Tf = \sum_{j=-N}^N T_{h_j}$ , where  $T_{h_j} f = (H_\alpha h_j) * f$ , for every  $f \in C_c^\infty(0, \infty)$ . Let us observe that the assumption of Lemma 3 holds. To be precise, if  $m$  belongs to  $WBV_{2,\lambda}$  and  $\lambda > \alpha + 1$  then

$$\int_t^\infty |H_\alpha h_j(y)| y^{2\alpha+1} dy \leq C \|m\|_{2,\lambda} (\sqrt{2^j t})^{\lambda-a-1},$$

and

$$\int_0^\infty |H_\alpha h_j(y)| y^{2\alpha+1} dy \leq C \|m\|_{2,\lambda}.$$

The above inequalities can be proven, from (5), along the same lines as in [7, pp. 284-285]. Then we obtain that

$$(17) \quad \left\| \sum_{j=-N}^N T_{h_j} f \right\|_{L_\alpha^{p,0}} \leq C \|m\|_{2,\lambda} \|f\|_{L_\alpha^{p,0}},$$

where  $C$  is independent of  $N = 1, 2, \dots$ , as it is done in [7] for integer  $\lambda$ . So we apply Lemma 3. To complete the proof, we will show that (13) and (15) are bounded by  $C \|m\|_{2,\lambda}^p \cdot \|f\|_{L_\alpha^{p,a}}^p$  (note that the constant  $A$  of (14) includes the factor  $\|m\|_{2,\lambda}$ , for  $K$  as above).

To estimate (13) observe that (3) implies

$$(18) \quad T^z \chi_{[\frac{r}{2}, 2r]} \leq \chi_{[\frac{r}{4}, 2r+\frac{r}{4}]} \quad \text{for } 0 < z < r/4.$$

Now (1), (2) with (18) lead to

$$\begin{aligned} & \left( \int_{r/2}^{2r} \left| \sum_{j=-N}^N T^z (H_\alpha h_j)(y) \right|^p y^{2\alpha+1} dy \right)^{1/p} \\ & \leq \sum_{j=-N}^N \left( \int_{r/2}^{2r} T^z (|H_\alpha h_j|^p)(y) y^{2\alpha+1} dy \right)^{1/p} \\ & = \sum_{j=-N}^N \left( \int_0^\infty T^z \chi_{[r/2, 2r]}(y) |H_\alpha h_j(y)|^p y^{2\alpha+1} dy \right)^{1/p} \\ & \leq \sum_{j=-N}^N \left( \int_{r/4}^{2r+r/4} |H_\alpha h_j(y)|^p y^{2\alpha+1} dy \right)^{1/p}. \end{aligned}$$

By Lemma 2, (13) is bounded by

$$4^p C \|m\|_{2,\lambda}^p \int_0^\infty \left( \int_{z < r/4} |f(z)| z^{2\alpha+1} dz \right)^p r^{(2\alpha+2)(1-p)} r^{a-1} dr.$$

Since  $(2\alpha + 2)(1 - p) + a - 1 < -1$ , Hardy's inequality [9, Lemma 3.14 p. 196] shows that (13) is bounded by  $C \|m\|_{2,\lambda}^p \cdot \|f\|_{L_\alpha^{p,a}}^p$  as desired.

To estimate (15), note that the assumption  $(p - 2)(\alpha + 1) < a$  implies that  $p(2\alpha + 2)/(2\alpha + 2 + a) < 2$ . We can, therefore, choose any  $q$  satisfying

$$\max \left( p, \frac{p(2\alpha + 2)}{2\alpha + 2 + a} \right) < q < 2,$$

and use Hölder's inequality to obtain the bound

$$\begin{aligned} & \left( \int_{r/2}^{2r} \left| \sum_{j=-N}^N T^z(H_\alpha h_j)(y) \right|^p y^{2\alpha+1} dy \right)^{1/p} \\ & \leq \left( \int_{r/2}^{2r} \left| \sum_{j=-N}^N T^z(H_\alpha h_j)(y) \right|^q y^{2\alpha+1} dy \right)^{1/q} r^{(2\alpha+2)(1/p-1/q)}. \end{aligned}$$

Observe that (3) implies

$$(19) \quad T^z \chi_{[\frac{r}{2}, 2r]} \leq \chi_{[\frac{z}{4}, \frac{3}{2}z]} \quad \text{for } z > 4r.$$

Now (1), (2) with (19) lead to

$$\begin{aligned} & \left( \int_{r/2}^{2r} \left| \sum_{j=-N}^N T^z(H_\alpha h_j)(y) \right|^q y^{2\alpha+1} dy \right)^{1/q} \\ & \leq \sum_{j=-N}^N \left( \int_{r/2}^{2r} T^z(|H_\alpha h_j|^q)(y) y^{2\alpha+1} dy \right)^{1/q} \\ & = \sum_{j=-N}^N \left( \int_0^\infty T^z \chi_{[\frac{r}{2}, 2r]} |H_\alpha h_j(y)|^q y^{2\alpha+1} dy \right)^{1/q} \\ & \leq \sum_{j=-N}^N \left( \int_{\frac{z}{4}}^{\frac{3z}{2}} |H_\alpha h_j(y)|^q y^{2\alpha+1} dy \right)^{1/q}. \end{aligned}$$

By Lemma 2, (15) is bounded by

$$3^p C \|m\|_{2,\lambda}^p \int_0^\infty \left( \int_{z>4r} |f(z)| z^{2\alpha+1} z^{(2\alpha+2)(1/q-1)} dz \right)^p \frac{r^{(2\alpha+2)(1-p/q)}}{r^{1-a}} dr.$$

Now since  $\frac{p(2\alpha+2)}{2\alpha+2+a} < q$ , we have  $(2\alpha+2)(1-p/q) + a - 1 > -1$  and Hardy's inequality [9, Lemma 3.14 p. 196] shows that (15) is bounded by  $C \|m\|_{2,\lambda}^p \|f\|_{L^{p,\alpha}}^p$ . This completes the proof of the Lemma.  $\square$

Let  $M_\alpha^{p,a}$  denotes the space of all  $L_\alpha^{p,a}$  multipliers for the modified Hankel transform  $H_\alpha$ . We use the identity

$$M_\alpha^{p,a} = M_\alpha^{\frac{p}{p-1}, -\frac{a}{p-1}},$$

which is a consequence of Plancherel formula and Hölder inequality, and derive the dual version of Lemma 4.



**LEMMA 5.** Let  $m \in WBV_{2,\lambda}$  for some  $\lambda > \alpha + 1$ . Then for  $2 < p < \infty$ ,  $-(2\alpha + 2) < a < (p - 2)(\alpha + 1)$  and  $f \in C_c^\infty(0, \infty)$

$$\left\| \sum_{j=-N}^N (H_\alpha h_j) * f \right\|_{L^{p,a}} \leq C \|m\|_{2,\lambda} \|f\|_{L^{p,a}},$$

with  $C$  independent of  $f$  and  $N = 1, 2, \dots$

### 3. Proof of Theorem 1

*Proof.* Firstly we will obtain the theorem for  $h$ . Then we will show how to deduce the thesis for the function  $m$  from the thesis for the function  $h$ .

As usual we denote the multiplier operator  $T_h$  defined by  $H_\alpha(T_h f) = h H_\alpha f$  in the form

$$T_h = \lim_{N \rightarrow \infty} \sum_{j=-N}^N T_{h_j} \text{ a.e.,} \quad \text{where} \quad T_{h_j} f = (H_\alpha h_j) * f.$$

Fix  $p$  and  $a$  satisfying the hypothesis. It is possible to choose  $p_0$  such that  $1 < p_0 < \min\{2, p\}$  and

$$(p_0 - 2)(\alpha + 1) < \frac{a}{p} p_0 < (p_0 - 1)(2\alpha + 2).$$

By Lemma 4

$$\begin{aligned} & \left( \int_0^\infty \left| x^{\frac{a}{p}} \sum_{j=-N}^N (H_\alpha h_j) * f(x) \right|^{p_0} x^{2\alpha+1} dx \right)^{\frac{1}{p_0}} \\ & \leq C \|m\|_{2,\lambda} \left( \int_0^\infty \left| x^{\frac{a}{p}} f(x) \right|^{p_0} x^{2\alpha+1} dx \right)^{\frac{1}{p_0}}. \end{aligned}$$

It is also possible to choose  $p_1$  such that  $\max\{2, p\} < p_1 < \infty$  and

$$-(2\alpha + 2) < \frac{a}{p} p_1 < (p_1 - 2)(\alpha + 1).$$

By Lemma 5

$$\begin{aligned} & \left( \int_0^\infty \left| x^{\frac{a}{p}} \sum_{j=-N}^N (H_\alpha h_j) * f(x) \right|^{p_1} x^{2\alpha+1} dx \right)^{\frac{1}{p_1}} \\ & \leq C \|m\|_{2,\lambda} \left( \int_0^\infty \left| x^{\frac{a}{p}} f(x) \right|^{p_1} x^{2\alpha+1} dx \right)^{\frac{1}{p_1}}. \end{aligned}$$

Interpolation of operators [9, Theorem 1.3, p. 179] shows that

$$\left\| \sum_{j=-N}^N (H_\alpha h_j) * f \right\|_{L_x^{p,\alpha}} \leq C \|m\|_{2,\lambda} \|f\|_{L_x^{p,\alpha}}.$$

Finally  $N \rightarrow \infty$  completes the proof for the function  $h$ . The result for the function  $m$  follows then from the lemma below.  $\square$

**LEMMA 6.** For  $\beta > 0$  and  $\lambda > 1/2$  the transformation  $x \rightarrow x^\beta$  of  $(0, \infty)$  induces the continuous isomorphism  $m(x) \rightarrow m(x^\beta)$  of the  $WBV_{2,\lambda}$  space.

*Proof.* According to [3, Lemma 10 p. 255] we can restrict into the function  $m$  with compact support. Then for  $m$  with compact support we can write the reproducing formula

$$(20) \quad m(x) = \frac{1}{\Gamma(\lambda)} \int_0^\infty m^{(\lambda)}(u) (u-x)_+^{\lambda-1} du$$

[1]. Let (20) be the definition of the fractional derivative of function  $m$  of order  $\lambda$ . To complete the proof of the lemma it is sufficient to repeat exactly the proof of [2, Proposition 3.9, p. 325] changing the norm  $\|\cdot\|_{(\mu),2,1}$  of  $AC_{2,1}^\mu$  into the norm  $\|\cdot\|_{2,\lambda}$  of  $WBV_{2,\lambda}$ .  $\square$

## References

- [ 1 ] A. Carbery, G. Gasper and W. Trebels, On localized potential spaces, *J. Approx. Theory*, **48**, (1986), 251–261.
- [ 2 ] J. Galé and T. Pytlik, Functional calculus for infinitesimal generators of holomorphic semigroups, *J. Funct. Anal.*, **150**, (1997), 307–355.
- [ 3 ] G. Gasper and W. Trebels, A characterization of localized Bessel potential spaces and applications to Jacobi and Hankel multipliers, *Studia Math.*, **65**, (1979), 243–278.
- [ 4 ] G. Gasper and W. Trebels, Multiplier Criteria Type for Fourier Series and Applications to Jacobi Series and Hankel Transforms, *Math. Ann.*, **242**, (1979), 225–240.
- [ 5 ] J. Gosselin and K. Stempak, A weak-type estimate for Fourier-Bessel multipliers, *Proc. Amer. Math. Soc.*, **106**, (1989), 655–662.
- [ 6 ] I. Hirschman, Variation diminishing Hankel transforms, *J. Analyse Math.*, **8**, (1960/61), 307–336.
- [ 7 ] R. Kapelko, A multiplier theorem for the Hankel transform, *Rev. Mat. Complutense*, **11**, (1998), 281–288.
- [ 8 ] B. Muckenhoupt, R.L. Wheeden and W. Young, Sufficiency conditions for  $L^p$  multipliers with power weights, *Trans. Amer. Math. Soc.*, **300**, (1987), 433–461.
- [ 9 ] E.M. Stein and G. Weiss, *Introduction to Fourier analysis on Euclidean spaces*, Princeton University Press, 1971.
- [ 10 ] K. Stempak, La théorie de Littlewood-Paley pour la transformation de Fourier-Bessel, *C.R. Acad. Sci. Paris*, **303**, (1986), 15–18.

Institute of Mathematics and Computer Science,  
Wrocław University of Technology,  
Wybrzeże Wyspiańskiego 27,  
50-370 Wrocław,  
POLAND.  
E-mail address: [rkapelko@im.pwr.wroc.pl](mailto:rkapelko@im.pwr.wroc.pl)